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QUESTION 1

Your customer runs two daily shifts in her plant: Morning Shift and Evening Shift. A resource LATHE is assigned to the
work center W1. There are five units of LATHE available, of which three units are available for the Morning Shift and the
remaining units are available for the Evening Shits. Which two actions must you perform to associate LATHE with W1? 

A. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource
LATHE in the Morning Shift column. 

B. Select the Available 24 Hours check box and in the Resource Availability region, enter 3 against the resource LATHE
in the Morning Shift column. 

C. Select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource LATHE
in the Evening Shift column. 

D. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 2 against the resource
LATHE in the Evening Shift column. 

E. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 60% against the
resource LATHE in the Morning Shift column. 

F. Do not select the Available 24 Hours check box and in the Resource Availability region, enter 40% against the
resource LATHE in the Evening Shift column. 

Correct Answer: BE 

 

QUESTION 2

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and 

manage work order exceptions. 

Which option shows the production exception types that can be reported by the production operator? 

A. Work Area, Work Center, and Resources 

B. Work Center and Resources 

C. Resources and Components 

D. Work Area, Work Center, Resources, and Components 

E. Work Area, Work Center, Resources, Components, and Miscellaneous 

Correct Answer: C 

 

 

QUESTION 3

In a manufacturing plant, two purchase components P1 and P2 and a resource R1 are required to assemble a product.

1Z0-1075-20 Practice Test | 1Z0-1075-20 Study Guide | 1Z0-1075-20 Exam Questions                               2 / 7

https://www.leads4pass.com/1z0-1075-20.html
https://www.leads4pass.com/1z0-1075-20.html
https://www.leads4pass.com/1z0-1075-20.html


https://www.leads4pass.com/1z0-1075-20.html
2024 Latest leads4pass 1Z0-1075-20 PDF and VCE dumps Download

The cost of the assembly is calculated by using the standard costing method. The work definition and resource rates of
the assembly have been defined as required. A cost accountant is estimating cost of the assembly, analyzing rolled-up
costs before finally publishing estimates as frozen standards to cost accounting by using a cost planning scenario. While
reviewing rolled up costs, the extended costs of purchase components are not included in a rolled-up scenario. Identify
the reason. 

A. Purchase components P1 and P2 are not associated with Material cost plan of the cost planning scenario. 

B. Costs for purchase components P1 and P2 are not defined in cost accounting. 

C. Create Accounting was not initiated. 

D. Create Accounting Distributions was not initiated. 

Correct Answer: D 

 

QUESTION 4

Identify three requirements fulfilled by nonstandard work orders. 

A. Rescheduling 

B. Repair 

C. Rework 

D. Prototype 

Correct Answer: BCD 

 

QUESTION 5

Identify three types of Item Quantities displayed in the Work Order History tab. 

A. Scrapped Quantity 

B. In Process Quantity 

C. Remaining Quantity 

D. Total Quantity 

E. Completed Quantity 

Correct Answer: ACE 

 

 

QUESTION 6

A production operator needs to review the materials issued, resources charged, and operations performed for a job that
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was executed in the previous shift. Identify the task the operator has to select to review all the transactions in a single
place for both Work Order and Orderless execution. 

A. Manage Work Orders 

B. Review Dispatch List 

C. Report Resource, Material and Operation Transactions 

D. Review Production Transaction History 

Correct Answer: A 

 

 

QUESTION 7

Identify the three changes that are allowed to be made to active Work Definition in a Work Center, without creating a
new version. 

A. Delete an Operation 

B. Costing Priority 

C. Production Priority 

D. Add an Operation 

E. Completion Subinventory 

Correct Answer: CDE 

 

QUESTION 8

Your customer has defined the work definitions. They have created and saved a new version for the work definition and
want to edit that work definition. Which two attributes cannot be updated using the Edit Work Definition Details action? 

A. State Date 

B. Costing Priority 

C. Version 

D. Production Priority 

Correct Answer: AC  

 

QUESTION 9

You have been asked to set up cost estimates for 10 different purchased items. Which two steps could be used to
accomplish this task? 
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A. Use the Mass Edit functionality. 

B. Run the ESS process "Update Item Cost Estimate". 

C. Enter cost estimates directly into UI. 

D. Call web service. 

E. Import spreadsheet. 

Correct Answer: CE 

 

QUESTION 10

Identify the three sources from which supply chain orchestration (SCO) can create the work orders. 

A. Order Management 

B. Quality 

C. Inventory Min-Max Planning 

D. Procurement 

E. Planning 

Correct Answer: ADE 

 

QUESTION 11

You can generate and manage work order exceptions in Oracle Manufacturing Cloud. Which users can report
production exception and who gets notified after an exception is raised? 

A. The Production Operator can report and exception and the application generates a notification that is 

sent to all users who have access to the manufacturing plant. 

B. The Production Operator can report an exception and the application generates a notification that is sent to all users
with the role of production supervisor who have access to the manufacturing plant. 

C. The Production Operator or Manufacturing Engineer can report an exception and notifies the production supervisor
using Oracle Social Network since there is no system generated notification. 

D. The Production Operator can report an exception and notifies the production supervisor using Oracle Social Network
since there is no system-generated notification. 

Correct Answer: B 

 

QUESTION 12

In your customer\\'s manufacturing facility, different types of Movement Requests are created. Key manufacturing
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components are issued to the work orders form the manufacturing subinventory. The manufacturing subinventory
receives its supplies form the Warehouse subinventory through automatically created Movement Requests. Which type
of Movement Requests should you use to fill the manufacturing subinventory form the Warehouse subinventory? 

A. Batch Wave Movement Requests 

B. Pick Wave Movement Requests 

C. Replenishment Requests 

D. Requisition Movement Requests 

Correct Answer: D 

 

QUESTION 13

An order entry specialist creates a Back-to-Back order for product item with an intention of fulfilling by in-

house manufacturing. The fulfillment line is scheduled and Supply Chain Orchestration (SCO) has initiated 

creation of a Supply Order rather than Work Order. 

Identify two options that can cause this situation. 

A. Sourcing rules for the product item are defined as Make as well as Transfer. 

B. Sourcing rule for the product item is defined as Make, but Work Definition is not defined. 

C. Sourcing rules for the product item are defined as Buy as well as Transfer. 

D. Sourcing rule for the product item is defined as Buy. 

Correct Answer: AB 

 

QUESTION 14

Identify two reports that provide work order cost-related information to the costing user. 

A. Work order Operational Analysis 

B. WIP Balance by Plant 

C. Purchase Variance Summary 

D. Cost Accounting Dashboard 

Correct Answer: AD 

 

 

QUESTION 15
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During a Manufacturing Cloud implementation, the customer request to develop Oracle Transactional 

Business Intelligence reports that are not available out-of- the box. 

Identify the tool that is available to the Report Developer in Manufacturing Cloud to develop the reports. 

A. Oracle Business Intelligence Standard Edition 

B. Oracle Business Intelligence Publisher 

C. Oracle Business Intelligence Enterprise Edition 

D. Oracle Business Intelligence Application 

Correct Answer: B 
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